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s | 2K 7 A
f5) T —TH 825 1,710 851 859
J5) T —TH 523 1,229 609 620
J5) T =TH 742 1,606 835 771
%k /N % % 2,090 4,545 2,295 2,250
aPm —TH 1,202 2,472 1,202 1,270
F=aalii| —TH 1,147 2,214 1,060 1,154
AEm ZTH 1,303 2,634 1,298 1,336
F=aalii| Lt E| 822 1,947 975 972
%k /hE % % 4,474 9,267 4,535 4,732
Feyars —TH 944 1,900 902 998
Feyars —TH 834 1,668 808 860
Feyars =TH 1,633 2,943 1,382 1,561
Feyars T A 1,057 1,745 867 878
%k /NE % %k 4,468 8,256 3,959 4,297
HEF)I] —TH 972 1,968 975 993
HEF)1] —TH 667 1,590 799 791
HEF) 1] =TH 1,143 2,532 1,229 1,303
HEF)1] T HE 931 2,000 993 1,007
%k /hE %k %k 3,713 8,090 3,996 4,094
[EEsIl —TH 861 1,839 906 933
[EEsIl ~TH 720 1,606 749 857
PEE I =TH 367 841 390 451
PEER)I| T HE 1,358 2,873 1,438 1,435
%k /hE % %k 3,306 7,159 3,483 3,676
* k 2EAE * % 41,518 81,791 39,725 42,066
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T | Bk 7 Z
FORAHT  —TH 2,891 6,093 2,842 3,251
FIRARRT  —TH 719 1,494 723 771
FIRARRT  =TH 1,162 2,573 1,256 1,317
FOIRAHT YT H 2,132 3,694 1,603 2,091
* k% /pE k% 6,904 13,854 6,424 7,430
WD IR —TH 1,094 1,971 982 989
WD IR —TH 970 1,975 986 989
WD IR =TH 1,438 2,832 1,371 1,461
HHFNIR I HE 667 1,455 717 738
HHFNIR T H 1,815 3,633 1,840 1,793
* %k pE k% 5,984 11,866 5,896 5,970
[ERSIEN —TH 794 1,189 599 590
[ERSIEN —TH 502 974 444 530
* k%  /pE k% 1,296 2,163 1,043 1,120
JEFIR —TH 709 1,156 544 612
JLFNIR —TH 754 1,513 742 771
JLFNIR =TH 555 876 445 431
* sk /PNEF ko 2,018 3,545 1,731 1,814
FOFNIR —TH 1,915 3,012 1,382 1,630
FOFNIR —TH 716 1,194 579 615
FOFNIR =TH 937 1,683 800 883
FOFnIR T HE 385 592 291 301
%k pE k% 3,953 6,481 3,052 3,429
Ll —TH 578 1,100 568 532
Ll ~TH 734 1,532 781 751
Ll =TH 1,408 2,714 1,352 1,362
Ll WTH 592 1,219 610 609
%k pE k% 3,312 6,565 3,311 3,254




